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Math 9 Chapter 1 Review

Name k’e 7

. Which numbers below are perfect squares? How do you know?

no!
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2. Calculate the perfect square whose square root is:
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3. Determine the value of each square root.
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4. Determine the value of each square root.

a) 46.76 by 4/327.61 c) A0.0025 dy v0.0225
=26 =1§-| = 0-05 zo-IS
5. The area of a square garden is 12.25 m". 35m
a. Determine the perimeter of the garden. 38 m 25m

Side 1@13]1\ = J1p2c = 32 S
28 ™

Pervm@lﬂ‘ = 4 x3.5 =| LH/\//
b. The owner decides to put a gravel pathway around the garden,

This reduces the area of the garden by 4.96 m~.
What is the new side length of the garden?

o=
Jew area = 12-25 —4-9 = F-29m

vew Side le/j\rh = \[7«2‘1
= 2-%m )
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6. Which numbers below are perfect squares? How do you know?

T No
a) 4 — b) 4= = ¢) +f0.009 dy V1024 = 2.2
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7. Use benchmarks to approximate each square root to the nearest tenth.
| p— '_ T
a) 116 b) 039 o) 1"'% = flos d) 1“'% = Joz1
/ N\ / = -
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8. In each triangle, determine the unknown length to the nearest tenth of a unit where necessary.
@ Use b)
Caleularoc
X
Qcm
hap
. Gem 'L ? 2
y= 139 - S & =)s4.57
2 1
1L = 4+6 =17

. Y- 15957 = 12-Cem,
=T = 08w,

9. Given,are the sides of two triangles. Are they right triangles?

a 10,13, 15 b. 12,1620 N
2
Chect if: oeck b 27 127k 6 7
* * :31 7 2
Is =lo* -7 4oo = U4+ 256 !
225 = loo t 169 . Ves!
\
No | S°
W’ 2 55 & possible
o Can Friangle.
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10. Each cube has eqze length 1 unit.
Determine the suMace area ofeach ohject.

3 oveleps

o U4 overleps "
e

= (s#6) - (4¥2) = (4%6) — (2¥2)

= 1%/
= 22// =
c) d)
6 overlaps
o es s / % ]
(105 - (122> > (74) - (6
= Bé// 3))}

I1. A 4-cm cube is attached to the top of a right triangular prism as shown.
Determine the surface area of the composite object, to the nearest square centimetre.
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15 cm
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